
STAFF REPORT 
 
DATE: June 26, 2019   

 
RE: 2002 Seidenberg Avenue (permit application # T2019-0232) 
 
FROM:   Karen DeMaria, City of Key West Urban Forestry Manager  
 
An application was received requesting the removal of (2) unidentified, 
non native trees.  Both trees are over 4” diameter and therefore, 
regulated. A site inspection was done and documented the following: 
 

             Tree Species: Unidentified, non native tree  

                     (similar to a privet/Ligustrum)     
 
           

 
 
     Photo-Standing on Second Street looking into property at both trees.  

Tree #1 Tree #2 



Tree #1: 
 

     
 
                                           Photo of whole tree #1 view 1. 



 
 
                                                                     Photo of whole tree #1 view 2. 



 
 
                                                          Photo of tree #1, trunk area.  



 
 
                                                           Photo of tree #1 canopy area. 



       
  

       

Photo of 

tree #1, 

close up 

of canopy 

view 1.  

Photo of 

tree #1, 

close up 

of canopy 

view 2. 



 
 
                                                            Photo of tree #1, close up of canopy view 3. 

 
Diameter: 10”  
Location: 70% (canopy close to structure but could be trimmed)    
Species:  50% (not on protected or not protected tree list)  
Condition: 60% (fair, appears to be an overgrown shrub that has turned 
into a tree.)  
Total Average Value = 60%  
Value x Diameter = 6 replacement caliper inches 
 

 
 
 
 
 
 
 



Tree #2: 

 
 
                                                           Photo of whole tree #2, street view. 



 
 
                                                                  Photo of tree #2, trunk area, view 1. 



 
 

 

Photo of tree 

#2, canopy 

view 1.  

Photo of tree 

#2, trunk 

area view 2. 



 
             
 
Diameter: 15”  
Location: 80% (front yard street tree)    
Species:  50% (not on protected or not protected tree list)  
Condition: 60% (fair, appears to be an overgrown shrub that has turned 
into a tree.) 
Total Average Value = 63%  

Value x Diameter = 9.4 replacement caliper inches 
 
 
Total caliper replacement: #1 = 6”  
                                            #2 = 9.4” 
                                           -------------- 
                                                   15.4”   

Photo of tree #2, whole tree 

view 2. 



 

 

Application 

 

 

 










































